14 1 Distanzplatte 3 mm

15 1 Distanzplatte 2 mm

16 1 Distanzplatte 0,5 mm

17 1 Forstnerbohreraufnahme
18 1 Klemmring fir @10 mm
19 1 Klemmring fur @8 mm
20 1 Klemmring fur @5 mm
21 1 Bohrglocke

22 2 |Anschlagsplattchen

23 4 |Schraube M5x7

24 1 Holzbohrer (optional)

25 1 Forstnerbohrer (optional)
Pos Stk Bezeichnung

1 1 Buchsengehause

2 1 Schlitten fur Lochreihen
3 3 Réndelknopf

4 1 Spannbacke fir linke Flihrung
5 1 Verbindungsstlick

6 1 Linke Fihrung

7 1 Rechte FUhrung

8 2 Schraube M5x20

9 2 Schraube M5x25

10 2 Schraube M5x10

11 1 Spannblock

12 1 Spanner

13 1 Schlitten fur Bohrglocke
Pos Stk Bezeichnung




